
         CANDIDATE NAME :
EXAM START TIME : 14:00:00
EXAM DURAITON  : 2:00 Hrs

TOTAL NO OF QUESTIONS :  200

Click to Print   logout challenges

 

     REGISTRATION NUMBER : 
EXAM DATE : 6­June­2016
EXAM NAME : SUB­INSPECTORS IN DELHI POLICE, CAPFs and ASSISTANT SUB­INSPECTORS IN CISF EXAM­2016
TOTAL MARKS : 200

Question 1. Select the odd words/numbers/letters from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेጂ쎽वषम श䛒द嶨藣/स苯याओ/ंअ劊筡र嶨藣 को च笉�नए|
Options:
a) Genuine
वा腚㔀तጂ쎽वक
b) Legitimate
ጂ쎽वᶢ�ध सगंत
c) Sham
ढ嶨藣गी
d) Statutory
सጂ쎽वᶢ�धक
Correct Answer: Sham
ढ嶨藣गी
Candidate Answer: Statutory
सጂ쎽वᶢ�धक
 
Question 2. Select the odd words/numbers/letters from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेጂ쎽वषम श䛒द嶨藣/स苯याओ/ंअ劊筡र嶨藣 को च笉�नए|
Options:
a) 18981
b) 64354
c) 93892
d) 56138
Correct Answer: 18981
Candidate Answer: 18981
 
Question 3. Select the odd words/numbers/letters from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेጂ쎽वषम श䛒द嶨藣/स苯याओ/ंअ劊筡र嶨藣 को च笉�नए|
Options:
a) OMNLM
b) TOQOP
c) WUVTU
d) RPQOP
Correct Answer: TOQOP
Candidate Answer: TOQOP
 
Question 4. Select the odd words/numbers/letters from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेጂ쎽वषम श䛒द嶨藣/स苯याओ/ंअ劊筡र嶨藣 को च笉�नए|
Options:
a) QRTY
b) BCEK
c) FGIO
d) TUWC
Correct Answer: QRTY
Candidate Answer: QRTY
 
Question 5. From the given alternative words, select the word which cannot be formed using the letters of the given word.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेउस श䛒द का चयन क蝙
िजय ेजो 뜨�दए गए श䛒द के अ劊筡र嶨藣 स ेनह蘭՟ ंबनाया जा सकता ह|ै 

ABSTRACTIONISTS
Options:
a) ATTRACTION
b) INSTRUCTIONS
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c) RATION
d) RACIAB
Correct Answer: INSTRUCTIONS
Candidate Answer: INSTRUCTIONS
 
Question 6. Identify the diagram that best represents the relationship among the classes given.
뜨�दए गए वग眾ᯑ के म掕檭य स汼ब䠌긥ध को 飦कस आरखे 儳�वारा 菍�⤔े꧞ट 杆᫂प म触煤 笉�न⽢∍ጂ쎽पत 飦कया गया ह|ै

Whales, Fishes, Crocodiles
켎ᚋहले,मछ飣سجحलया,ँमगरम쮫छ
Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 7. In the following question, some statements are given, followed by some conclusions. You have to consider the statements to be true even if they seem to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.
नीच ेकुछ कथन 뜨�दए गए ह滊,िजसके बाद कुछ 笉�न⤔꧞कषꃹ땮 뜨�दए गए ह滊|आपको 뜨�दए गए कथन嶨藣 को सह蘭՟ मानना ह ै飦फर चाह ेवह सवꃹ땮ጂ쎽व뜨�दत त㣬�य स े飣سجحभ䠌긥न 뼟庙य嶨藣 न ह嶨藣| आपको 笉�नणꃹ땮य लनेा ह ै飦क 뜨�दए गए
笉�न⤔꧞कष眾ᯑ म触煤 स ेकौन­सा 笉�न⤔꧞कषꃹ땮 कथन嶨藣 का अनसुरण करता ह|ै

Statement:
कथन: 

German engineering is considered best in the world.
जमꃹ땮न अ飣سجحभया먛琐Ꝡ嫪क蝙
 को ጂ쎽व緽๯व म触煤 菍�⤔े꧞ठ माना जाता ह|ै

Conclusions:
笉�न⤔꧞कषꃹ땮: 

I. No other countries have best engineers.
飦कसी अ䠌긥य दशे म触煤 菍�⤔े꧞ठ अ飣سجحभय䠌긥ता नह蘭՟ ंह滊|
II. Engineer from other countries are catching up with German engineers now a days.
अब अ䠌긥य दशे嶨藣 के अ飣سجحभयतंा भी जमꃹ땮न अ飣سجحभयतंाओ ंके 腚㔀तर पर आ रह ेह滊|
Options:
a) Only I follows



केवल I अनसुरण करता है
b) Only II follows
केवल II अनसुरण करता है
c) Both I and II follows
दोन嶨藣 I और II अनसुरण करत ेह滊
d) Neither I nor II follows
ना I ना II म触煤 स ेकोई भी अनसुरण करता है
Correct Answer: Neither I nor II follows
ना I ना II म触煤 स ेकोई भी अनसुरण करता है
Candidate Answer: Neither I nor II follows
ना I ना II म触煤 स ेकोई भी अनसुरण करता है
 
Question 8. Find out the correct alternative figure which contains the given question figure.
ጂ쎽वक琤ꁔप आकृ笉�तय嶨藣 म触煤 स ेउस आकृ笉�त क蝙
 पहचान क蝙
िजय ेिजसम触煤 禎鞕शन आकृ笉�त 笉�नह蘭՟त ह|ै

Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 9. In the following question, which answer figure will complete the pattern in the question figure?
笉�न汼ना飦कत 禎鞕緽๯न म触煤 कौन सी उ켮तर आकृ笉�त 禎鞕緽๯न आकृ笉�त के पटैनꃹ땮 को परूा करगेी?



Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 10. Select the related letters/words/numbers from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेस汼बि䠌긥ध켮त अ劊筡र嶨藣/श䛒द嶨藣/स苯याओ ंको च笉�नए।

HAPPY : ibqqz :: FRESH : ?
Options:
a) gsfti
b) gsdti
c) gsftj
d) esftg
Correct Answer: gsfti
Candidate Answer: gsfti
 
Question 11. Select the odd words/numbers/letters from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेጂ쎽वषम श䛒द嶨藣/स苯याओ/ंअ劊筡र嶨藣 को च笉�नए|
Options:
a) Baleful
हा笉�नकारक
b) Pestilent
डरावना
c) Deathly
घातक
d) Wholesome



腚㔀वा腚㔀㣬�यकर
Correct Answer: Wholesome
腚㔀वा腚㔀㣬�यकर
Candidate Answer: Pestilent
डरावना
 
Question 12. In the following questions, a series is given with one or more number(s) / alphabet missing. Choose the correct alternative from the given options.
笉�न汼न飣سجحल㠊ᾦखत 禎鞕緽๯न嶨藣 म触煤 菍�खंला द蘭՟ गई ह,ैिजसम触煤 एक या एक स ेअᶢ�धक स苯याए/ँवणꃹ땮 ल瓾킪त ह滊| 뜨�दए गय ेጂ쎽वक琤ꁔप嶨藣 म触煤 स ेसह蘭՟ उ켮तर च笉�नए|

E­D­C­B , J­H­F­D ,O­L­I­?
Options:
a) R
b) A
c) E
d) F
Correct Answer: F
Candidate Answer: F
 
Question 13. Which of the following cubes can be created by folding the given figure?
禎鞕緽๯न म触煤 द蘭՟ आकृ笉�त को फो琤ꁔड करन ेप े笉�न汼न म触煤 स ेकौन सी आकृ笉�त बनती ह:ै

Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 14. Select the missing number from the given responses.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेल瓾킪त स苯या ᠓肌ात क蝙
िजए|



Options:
a) 333
b) 222
c) 666
d) 999
Correct Answer: 222
Candidate Answer: 222
 
Question 15. In the following questions, a series is given with one or more number(s) / alphabet missing. Choose the correct alternative from the given options.
笉�न汼न飣سجحल㠊ᾦखत 禎鞕緽๯न嶨藣 म触煤 菍�खंला द蘭՟ गई ह,ैिजसम触煤 एक या एक स ेअᶢ�धक स苯याए/ँवणꃹ땮 ल瓾킪त ह滊| 뜨�दए गय ेጂ쎽वक琤ꁔप嶨藣 म触煤 स ेसह蘭՟ उ켮तर च笉�नए|

? , 5 , 30, 186, 1309, 10680
Options:
a) 0.25
b) 0.75
c) 1.00
d) 0
Correct Answer: 0.25
Candidate Answer: 0
 
Question 16. If MZQBL is decoded as NYUWO, then decode the series OJXMT.
य뜨�द MZQBL का कोड NYUWO ह,ै तो OJXMT 菍�खंला को कैस ेकूटब㗛徨 飦कया जायगेा?
Options:
a) XJAGO
b) PIAGQ
c) QJBHS
d) VJBGQ
Correct Answer: VJBGQ
Candidate Answer: PIAGQ
 
Question 17. In the following question, which answer figure will complete the pattern in the question figure?
笉�न汼ना飦कत 禎鞕緽๯न म触煤 कौन सी उ켮तर आकृ笉�त 禎鞕緽๯न आकृ笉�त के पटैनꃹ땮 को परूा करगेी?

Options:
a) 

b) 

c) 

d) 



Correct Answer: 

Candidate Answer: 

 
Question 18. In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The set of numbers given in the
alternatives is represented by two classes of alphabets as in two matrices given below.The columns and rows of Matrix I are numbered from 7 to 10 and that of
Matrix II from 2 to 6. A letter from these matrices can be represented first by its row and then by its column, example, D can be written as 23 and 32. 
笉�न汼न飣سجحल㠊ᾦखत 禎鞕緽๯न嶨藣 म触煤 स ेएक श䛒द केवल एक स苯या समहू 儳�वारा दशाꃹ땮या गया ह ैजसैा 飦क ጂ쎽वक琤ꁔप嶨藣 म触煤 स े飦कसी एक म触煤 뜨�दया गया ह|ै ጂ쎽वक琤ꁔप嶨藣 म触煤 뜨�दए गए स苯या समहू को अ劊筡र嶨藣 के दो वग眾ᯑ 儳�वारा
दशाꃹ땮या गया ह滊, जसैा 飦क नीच े뜨�दया गया ह滊। आ켎ᚋयहू­I के 腚㔀त汼भ और पिं뼟庙त क蝙
 स苯या 7 स े10 म触煤 द蘭՟ गयी ह ैऔर आ켎ᚋयहू­II क蝙
 2 स े6 म触煤 द蘭՟ गयी ह।ै इन आ켎ᚋयहू嶨藣 म触煤 एक अ劊筡र को पहल ेउसक蝙

पिं뼟庙त और बाद म触煤 腚㔀तभं स苯या 儳�वारा दशाꃹ땮या जा सकता ह।ै उदाहरण के 飣سجحलए D को 23 और 32 儳�वारा 禎鞕द飣سجحशꃹ땮त 飦कया जा सकता ह|ै

Identify the set for the word RISE.
RISE श䛒द के 飣سجحलए सटे क蝙
 पहचान कर触煤|

Options:
a) 1010, 25, 35, 24
b) 26, 79, 87, 69
c) 26, 79, 99, 36
d) 66, 89, 32, 64
Correct Answer: 1010, 25, 35, 24
Candidate Answer: 26, 79, 87, 69
 
Question 19. Select the related letters/words/numbers from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेस汼बि䠌긥ध켮त अ劊筡र嶨藣/श䛒द嶨藣/स苯याओ ंको च笉�नए।

GAYATRI : AAR :: PALLAVI : ?
Options:
a) ALI
b) AAL
c) ALA
d) ALV
Correct Answer: ALV
Candidate Answer: ALV
 
Question 20. Select the related letters/words/numbers from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेस汼बि䠌긥ध켮त अ劊筡र嶨藣/श䛒द嶨藣/स苯याओ ंको च笉�नए।

Powerful : Weak :: Victory : ?
शि뼟庙तशाल蘭՟:कमज़ोर::ጂ쎽वजय :?
Options:
a) Winning
जीतना
b) Strong
मजबरू
c) Defeat
हार
d) Peace
शा笉�त



Correct Answer: Defeat
हार
Candidate Answer: Defeat
हार
 
Question 21. A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.
कागज़ के एक टुकड़ ेको मोडकर काटा जाता ह,ै जसैा 飦क 禎鞕緽๯न आकृ笉�तय嶨藣 म触煤 뜨�दखाया गया ह|ैइस ेखोल ेजान ेपर यह 飦कस उ켮तर आकृ笉�त जसैा 뜨�दखाई दगेा|

Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 22. Babita is Ajay's wife and Chiranjiv is Divya's father. If Ajay's mother­in­law is wife of Divya's grandfather, then what is the relation of Babita with
Chiranjiv's wife?
अजय क蝙
 प켮नी ब먛琐बता ह ैऔर ᶢ�चरजंीवी 뜨�द켎ᚋया का ጂ쎽पता ह|ै य뜨�द अजय क蝙
 सास 뜨�द켎ᚋया के दादा क蝙
 प켮नी ह,ैतो ᶢ�चरजंीव क蝙
 प켮नी के साथ ब먛琐बता का 뼟庙या 䒈㰤र緽๯ता ह|ै
Options:
a) Sister­in­law
飣سجحस腚㔀टर­इन­लॉ
b) Sister
ब뜨�हन
c) Cousin
किजन
d) Nephew
न抡े唀यू

Correct Answer: Sister­in­law
飣سجحस腚㔀टर­इन­लॉ
Candidate Answer: Sister­in­law
飣سجحस腚㔀टर­इन­लॉ
 
Question 23. If GOPAL is coded as MIVUR, then how will RADHA be coded as:



य뜨�द GOPAL का कोड MIVUR ह,ै तो RADHA को कैस ेकूटब㗛徨 飦कया जायगेा?
Options:
a) XVJBG
b) XUJBG
c) XTJBG
d) XUJCG
Correct Answer: XUJBG
Candidate Answer: XUJBG
 
Question 24. Select the odd words/numbers/letters from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेጂ쎽वषम श䛒द嶨藣/स苯याओ/ंअ劊筡र嶨藣 को च笉�नए|
Options:
a) 18
b) 40
c) 82
d) 180
Correct Answer: 82
Candidate Answer: 82
 
Question 25. If P is sitting second to the left of S and Q is sitting second to the right of R. T sits immediate right of S, Q is not on immediate right or left of S. Who is
sitting on the immediate right of R?
य뜨�द P,S के बाए ंस ेदसूर े腚㔀थान पर बठैा ह ैऔर Q, R के दायी ंओर दसूर े腚㔀थान पर ह|ै T, S के ठ私�क दायी ंओर ह ैQ,S के ना तो ठ私�क दायी ंओर और ना तो ठ私�क बायी ंओर ह|ै R के ठ私�क दाय触煤 कौन
बठैा ह?ै
Options:
a) T
b) S
c) P
d) Q
Correct Answer: S
Candidate Answer: S
 
Question 26. In the following question, some statements are given, followed by some conclusions. You have to consider the statements to be true even if they seem
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.
नीच ेकुछ कथन 뜨�दए गए ह滊,िजसके बाद कुछ 笉�न⤔꧞कषꃹ땮 뜨�दए गए ह滊| आपको 뜨�दए गए कथन嶨藣 को सह蘭՟ मानना ह ै飦फर चाह ेवह सवꃹ땮ጂ쎽व뜨�दत त㣬�य स े飣سجحभ䠌긥न 뼟庙य嶨藣 न ह嶨藣| आपको 笉�नणꃹ땮य लनेा ह ै飦क 뜨�दए गए
笉�न⤔꧞कष眾ᯑ म触煤 स ेकौन­सा 笉�न⤔꧞कषꃹ땮 कथन嶨藣 का अनसुरण करता ह|ै

Statement:
कथन: 

The successful test of Hydrogen bomb of North Korea is a threat to the United States and its ally countries.
उ켮तर को䒈㰤रया 儳�वारा हाइ라蕻ोजन बम का सफल पर蘭՟劊筡ण,अमर蘭՟का और उसके सहयोगी दशे嶨藣 के 飣سجحलए खतरा ह|ै

Conclusions:
笉�न⤔꧞कषꃹ땮:

I. North Korea will declare a state of war against the US and its ally countries in the near future.
उ켮तर को䒈㰤रया 笉�नकट भጂ쎽व⤔꧞य म触煤 अमर蘭՟का और उसके सहयोᶢ�गय嶨藣 के ጂ쎽व⽢∍㗛徨 य㗛ु徨 क蝙
 घोषणा करगेा|
II. The US and it ally countries should not worry about North Korea's successful test of Hydrogen bomb as it has only increased its nuclear arsenal.
अमर蘭՟का और उसके सहयोगी दशे嶨藣 को उ켮तर को䒈㰤रया 儳�वारा हाइ라蕻ोजन बम के सफल पर蘭՟劊筡ण स ेघबरान ेक蝙
 आव緽๯यकता नह蘭՟ ंह,ै 뼟庙य嶨藣飦क यह केवल उसके परमाण ुशा腚㔀Ꝡ嫪嶨藣 म触煤 वጂ쎽㗛徨 माꝠ嫪 ह|ै
Options:
a) Only I follows 
केवल I अनसुरण करता है
b) Only II follows
केवल II अनसुरण करता है
c) Neither I nor II follows
ना I ना II म触煤 स ेकोई भी अनसुरण करता है
d) Both I and II follows
दोन嶨藣 I और II अनसुरण करत ेह滊
Correct Answer: Neither I nor II follows
ना I ना II म触煤 स ेकोई भी अनसुरण करता है
Candidate Answer: Only II follows
केवल II अनसुरण करता है
 
Question 27. In the following question, some statements are given, followed by some conclusions. You have to consider the statements to be true even if they seem
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.
नीच ेकुछ कथन 뜨�दए गए ह滊,िजसके बाद कुछ 笉�न⤔꧞कषꃹ땮 뜨�दए गए ह滊|आपको 뜨�दए गए कथन嶨藣 को सह蘭՟ मानना ह ै飦फर चाह ेयह सवꃹ땮ጂ쎽व뜨�दत त㣬�य स े飣سجحभ䠌긥न 뼟庙य嶨藣 न ह嶨藣|आपको 笉�नणꃹ땮य लनेा ह ै飦क 뜨�दए गए
笉�न⤔꧞कष眾ᯑ म触煤 स ेकौन­सा 笉�न⤔꧞कषꃹ땮 कथन嶨藣 का अनसुरण करता ह|ै



Statements: 
कथन : 

Some cats are dogs.
कुछ 먛琐बि琤ꁔलया ंकु켮त触煤 ह滊।
All dogs are black.
सभी काल ेकु켮त触煤 ह滊।

Conclusions:
笉�न⤔꧞कषꃹ땮:

I. Some cats are black.
कुछ 먛琐बि琤ꁔलया ंकाल蘭՟ ह滊।
II. Some dogs are black.
कुछ काल ेकु켮त触煤 ह滊।
Options:
a) Neither conclusion I nor II follows
ना 笉�न⤔꧞कषꃹ땮 I ना II 笉�नकलता है
b) Both conclusions I and II follow
दोन嶨藣 笉�न⤔꧞कषꃹ땮 I एव ंII 笉�नकलता है
c) Only conclusion I follows
केवल 笉�न⤔꧞कषꃹ땮 I 笉�नकलता है
d) Only conclusion II follows
केवल 笉�न⤔꧞कषꃹ땮 II 笉�नकलता है
Correct Answer: Only conclusion II follows
केवल 笉�न⤔꧞कषꃹ땮 II 笉�नकलता है
Candidate Answer: Only conclusion I follows
केवल 笉�न⤔꧞कषꃹ땮 I 笉�नकलता है
 
Question 28. Arrange the following words as per order in the dictionary.
笉�न汼ना飦कत श䛒द嶨藣 को अ胠嚱जेी श䛒दकोश के अनसुार सह蘭՟ ᗒ٘म म触煤 켎ᚋयवि腚㔀थत कर触煤|

I. Management 
II. Manufacture
III. Maintain
IV. Manner
Options:
a) I, II, III, IV
b) III, II, IV, I
c) IV, III, II, I
d) III, I, IV, II
Correct Answer: III, I, IV, II
Candidate Answer: III, I, IV, II
 
Question 29. Observe the figures and find a mirror image of the same from the alternatives given. Imagine that MN is a mirror.
आकृ笉�तय嶨藣 का अ掕檭ययन कर触煤 और 뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेउस आकृ笉�त को च笉�नए, जो इस आकृ笉�त का दपꃹ땮ण 禎鞕笉�त먛琐ब汼ब हो,मान ल蘭՟िजय े飦क MN दपꃹ땮ण ह|ै

Options:
a) 

b) 



c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 30. From the given alternative words, select the word which cannot be formed using the letters of the given word.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेउस श䛒द का चयन क蝙
िजय ेजो 뜨�दए गए श䛒द के अ劊筡र嶨藣 स ेनह蘭՟ ंबनाया जा सकता ह|ै 

RAPPROCHEMENT
Options:
a) MACHETE
b) APPROCH
c) RAPID
d) TEAM
Correct Answer: RAPID
Candidate Answer: RAPID
 
Question 31. A girl walks 100 m straight from her home, to go to the market during her morning walk. Then she turns left for 85 m and then again turns left for 60 m,
she can see her shadow now. Therefore, in which direction is the entry gate of her house facing and what is the shortest distance from her current location to her
home?
एक लड़क蝙
 अपनी 禎鞕ातःकाल蘭՟न सरै के दौरान बाज़ार जान ेके 飣سجحलए 100 मीटर सीध ेचलकर 85 मीटर बाए ंओर मडु जाती ह ैऔर पनु: बाए ं60 मीटर चलती ह,ै अब वह अपनी परछाई दखे सकती ह|ै
इस 腚㔀थान स ेउसके घर का 禎鞕वशे 儳�वार 飦कस ओर ह ैऔर वह अपन ेघर स े䠌긥यनूतम 飦कतनी दरू ह ै?

Options:
a) South, 185 meter
द뼭什劊筡ण,185 मीटर
b) North, 185 meter
उ켮तर,185 मीटर
c) East, 160 meter
पवूꃹ땮,160 मीटर
d) North, 160 meter
उ켮तर,160 मीटर
Correct Answer: South, 185 meter
द뼭什劊筡ण,185 मीटर
Candidate Answer: South, 185 meter
द뼭什劊筡ण,185 मीटर
 
Question 32. In a class, Ena ranked eighteen from the top and thirty­ninth from the bottom among those who passed an examination. Ten students did not appear in
the examination and four failed. What is the total number of students in the class?



एक क劊筡ा म触煤 飦कसी पर蘭՟劊筡ा म触煤, पास होन ेवालो म触煤 स,े ऐना का ऊपर स े18वा ंऔर नीच ेस े39वा ं腚㔀थान आया| दस ጂ쎽व儳�याथ✭ पर蘭՟劊筡ा म触煤 नह蘭՟ ंबठैे और 4 फेल हो गए| क劊筡ा म触煤 ጂ쎽व儳�याᶢ�थꃹ땮य嶨藣 क蝙
 कुल स苯या
飦कतनी ह?ै
Options:
a) 40
b) 60
c) 56
d) 70
Correct Answer: 70
Candidate Answer: 70
 
Question 33. Identify the diagram that best represents the relationship among the classes given.
뜨�दए गए वग眾ᯑ के म掕檭य स汼ब䠌긥ध को 飦कस आरखे 儳�वारा 菍�⤔े꧞ट 杆᫂प म触煤 笉�न⽢∍ጂ쎽पत 飦कया गया ह|ै

Car, Motorcycles, Automobiles
कार, मोटर साई飦कल,ऑटोमोबाइल
Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 34. Select the related letters/words/numbers from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेस汼बि䠌긥ध켮त अ劊筡र嶨藣/श䛒द嶨藣/स苯याओ ंको च笉�नए।

11 : 110 :: 15 :: ?
Options:
a) 149
b) 210
c) 151
d) 200
Correct Answer: 210
Candidate Answer: 210
 
Question 35. Observe the figures and find a mirror image of the same from the alternatives given. Imagine that MN is a mirror.



आकृ笉�तय嶨藣 का अ掕檭ययन कर触煤 और 뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेउस आकृ笉�त को च笉�नए, जो इस आकृ笉�त का दपꃹ땮ण 禎鞕笉�त먛琐ब汼ब हो,मान ल蘭՟िजय े飦क MN दपꃹ땮ण ह|ै

Options:
a) 

b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 36. A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.
कागज़ के एक टुकड़ ेको मोडकर काटा जाता ह,ै जसैा 飦क 禎鞕緽๯न आकृ笉�तय嶨藣 म触煤 뜨�दखाया गया ह|ैइस ेखोल ेजान ेपर यह 飦कस उ켮तर आकृ笉�त जसैा 뜨�दखाई दगेा|

Options:
a) 



b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 37. In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The set of numbers given in the
alternatives is represented by two classes of alphabets as in two matrices given below.The columns and rows of Matrix I are numbered from 7 to 10 and that of
Matrix II from 2 to 6. A letter from these matrices can be represented first by its row and then by its column, example, D can be written as 23 and 32. 
笉�न汼न飣سجحल㠊ᾦखत 禎鞕緽๯न嶨藣 म触煤 स ेएक श䛒द केवल एक स苯या समहू 儳�वारा दशाꃹ땮या गया ह ैजसैा 飦क ጂ쎽वक琤ꁔप嶨藣 म触煤 स े飦कसी एक म触煤 뜨�दया गया ह|ै ጂ쎽वक琤ꁔप嶨藣 म触煤 뜨�दए गए स苯या समहू को अ劊筡र嶨藣 के दो वग眾ᯑ 儳�वारा
दशाꃹ땮या गया ह滊, जसैा 飦क नीच े뜨�दया गया ह滊। आ켎ᚋयहू­I के 腚㔀त汼भ और पिं뼟庙त क蝙
 स苯या 7 स े10 म触煤 द蘭՟ गयी ह ैऔर आ켎ᚋयहू­II क蝙
 2 स े6 म触煤 द蘭՟ गयी ह।ै इन आ켎ᚋयहू嶨藣 म触煤 एक अ劊筡र को पहल ेउसक蝙

पिं뼟庙त और बाद म触煤 腚㔀तभं स苯या 儳�वारा दशाꃹ땮या जा सकता ह।ै उदाहरण के 飣سجحलए D को 23 और 32 儳�वारा 禎鞕द飣سجحशꃹ땮त 飦कया जा सकता ह|ै

Identify the set for the word DOSSIER.
DOSSIER श䛒द के 飣سجحलए सटे क蝙
 पहचान कर触煤|

Options:
a) 23, 54, 710, 25, 66, 26, 36
b) 32, 35, 56, 44, 25, 78, 52
c) 23, 43, 66, 26, 54, 35, 56
d) 32, 54, 710, 87, 25, 24, 66
Correct Answer: 32, 54, 710, 87, 25, 24, 66
Candidate Answer: 32, 54, 710, 87, 25, 24, 66
 
Question 38. In the following questions, a series is given with one or more number(s) / alphabet missing. Choose the correct alternative from the given options.
笉�न汼न飣سجحल㠊ᾦखत 禎鞕緽๯न嶨藣 म触煤 菍�खंला द蘭՟ गई ह,ैिजसम触煤 एक या एक स ेअᶢ�धक स苯याए/ँवणꃹ땮 ल瓾킪त ह滊| 뜨�दए गय ेጂ쎽वक琤ꁔप嶨藣 म触煤 स ेसह蘭՟ उ켮तर च笉�नए|

BE, DH, ? ?, HN, JQ
Options:



a) FI
b) FK
c) GI
d) GK
Correct Answer: FK
Candidate Answer: FK
 
Question 39. In the following question, some statements are given, followed by some conclusions. You have to consider the statements to be true even if they seem
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.
नीच ेकुछ कथन 뜨�दए गए ह滊,िजसके बाद कुछ 笉�न⤔꧞कषꃹ땮 뜨�दए गए ह滊|आपको 뜨�दए गए कथन嶨藣 को सह蘭՟ मानना ह ै飦फर चाह ेयह सवꃹ땮ጂ쎽व뜨�दत त㣬�य स े飣سجحभ䠌긥न 뼟庙य嶨藣 न ह嶨藣|आपको 笉�नणꃹ땮य लनेा ह ै飦क 뜨�दए गए
笉�न⤔꧞कष眾ᯑ म触煤 स ेकौन­सा 笉�न⤔꧞कषꃹ땮 कथन嶨藣 का अनसुरण करता ह|ै

Statements: 
कथन:
All roses are yellow.
सभी गलुाब पील ेह滊|
Some roses are flowers.
कुछ गलुाब फूल ह滊|

Conclusions: 
笉�न⤔꧞कषꃹ땮:
I. Some roses are yellow.
कुछ गलुाब पील ेह滊|
II. All roses are flowers.
सभी गलुाब फूल ह滊|
Options:
a) Only conclusion I follows
केवल 笉�न⤔꧞कषꃹ땮 I 笉�नकलता है
b) Only conclusion II follows
केवल 笉�न⤔꧞कषꃹ땮 II 笉�नकलता है
c) Neither conclusion I nor II follows
ना 笉�न⤔꧞कषꃹ땮 I ना II 笉�नकलता है
d) Both conclusion I and II follows
दोन嶨藣 笉�न⤔꧞कषꃹ땮 I एव ंII 笉�नकलता है
Correct Answer: Only conclusion I follows
केवल 笉�न⤔꧞कषꃹ땮 I 笉�नकलता है
Candidate Answer: Only conclusion I follows
केवल 笉�न⤔꧞कषꃹ땮 I 笉�नकलता है
 
Question 40. Select the related letters/words/numbers from the given alternatives.
뜨�दए गए ጂ쎽वक琤ꁔप嶨藣 म触煤 स ेस汼बि䠌긥ध켮त अ劊筡र嶨藣/श䛒द嶨藣/स苯याओ ंको च笉�नए।

Happy : Dismal :: Proud : ?
禎鞕स䠌긥न:笉�नराशाजनक:: गवꃹ땮 : ?
Options:
a) Eminent
禎鞕飣سجحस㗛徨
b) Humble
न�
c) Fiery
उ胠嚱
d) Gratified
कृताथꃹ땮
Correct Answer: Humble
न�
Candidate Answer: Gratified
कृताथꃹ땮
 
Question 41. Identify the diagram that best represents the relationship among the classes given.
뜨�दए गए वग眾ᯑ के म掕檭य स汼ब䠌긥ध को 飦कस आरखे 儳�वारा 菍�⤔े꧞ट 杆᫂प म触煤 笉�न⽢∍ጂ쎽पत 飦कया गया ह|ै

Nitrogen, Air, Ice
नाइ怪툜ोजन,वाय,ुबफꃹ땮
Options:
a) 



b) 

c) 

d) 

Correct Answer: 

Candidate Answer: 

 
Question 42. In the following questions, a series is given with one or more number(s) / alphabet missing. Choose the correct alternative from the given options.
笉�न汼न飣سجحल㠊ᾦखत 禎鞕緽๯न嶨藣 म触煤 菍�खंला द蘭՟ गई ह,ैिजसम触煤 एक या एक स ेअᶢ�धक स苯याए/ँवणꃹ땮 ल瓾킪त ह滊| 뜨�दए गय ेጂ쎽वक琤ꁔप嶨藣 म触煤 स ेसह蘭՟ उ켮तर च笉�नए|

X_ZY_X_YZY_X
Options:
a) XZYZ
b) ZYXY
c) YZXZ
d) YYZZ
Correct Answer: YZXZ
Candidate Answer: ZYXY
 
Question 43. Who was the founder of Kolkata's first "Atmiya Sabha" (philosophical discussion circle) held in 1815? 
1815 म触煤 आयोिजत कोलक켮ता क蝙
 पहल蘭՟ "आ켮मीय सभा" (दाशꃹ땮笉�नक चचाꃹ땮 व켮त) के स腚㔀थापक कौन थ?े
Options:
a) Ram Mohan Roy 
राम मोहन रॉय
b) Lala Lajpat Rai 
लाला लाजपत राय
c) Rabindranath Tagore 
र먛琐ब䠌긥颅鹆नाथ टगैोर
d) Jawahar Lal Nehru 
जवाहरलाल नहे⽢∍
Correct Answer: Ram Mohan Roy 
राम मोहन रॉय
Candidate Answer: Ram Mohan Roy 
राम मोहन रॉय
 
Question 44. DNA shows hyperchromicity on:
डीएनए 飦कस पर हाइपरᗒ٘ोमो飣سجحसट蘭՟ दशाꃹ땮ता ह:ै
Options:



a) heating
ह蘭՟뜨�टगं
b) cooling
कु飣سجحलगं
c) crystallizing
飦ᗒ٘腚㔀टलाइिजगं
d) replication
र瓾े킪ल蘭՟केशन
Correct Answer: heating
ह蘭՟뜨�टगं
Candidate Answer: crystallizing
飦ᗒ٘腚㔀टलाइिजगं
 
Question 45. _________ is the thinnest layer of Earth. 
_______प㣬�वी क蝙
 सबस ेपतल蘭՟ परत ह।ै
Options:
a) Mantle 
म䠌긥टल
b) Outer Core 
आउटर कोर
c) Crust 
ᗒ٘腚㔀ट
d) Inner Core 
इनर कोर
Correct Answer: Crust 
ᗒ٘腚㔀ट
Candidate Answer: Mantle 
म䠌긥टल
 
Question 46. Which of the following is the correct sequence of countries in terms of maximum carbon dioxide emission? 
笉�न汼न飣سجحल㠊ᾦखत म触煤 स ेअᶢ�धकतम काबꃹ땮नडाईऑ뼟庙साइड उ켮सजꃹ땮न के स䠌긥दभꃹ땮 म触煤 दशे嶨藣 का सह蘭՟ ᗒ٘म कौन सा ह?ै
Options:
a) China, USA, European Union, India
चीन, अमर蘭՟का, यरूोपीयन सघं, भारत
b) USA, India, China, European union
अमर蘭՟का, भारत, चीन, यरूोपीयन सघं
c) China, India, European Union, USA
चीन, भारत, यरूोपीयन सघं, अमर蘭՟का
d) European union, China, USA, India
यरूोपीयन सघं, चीन, अमर蘭՟का, भारत
Correct Answer: China, USA, European Union, India
चीन, अमर蘭՟का, यरूोपीयन सघं, भारत
Candidate Answer: China, USA, European Union, India
चीन, अमर蘭՟का, यरूोपीयन सघं, भारत

 
Question 47. Which amendment to the Indian Constitution added the words Secular and Socialist in the Preamble? 
कौन स ेसशंोधन म触煤 भारतीय सጂ쎽वधान क蝙
 禎鞕腚㔀तावना म触煤 धमꃹ땮笉�नरप劊े筡 और समाजवाद蘭՟ श䛒द जोड़ ेगए ह滊?
Options:
a) Fortieth 
चाल蘭՟सव触煤
b) Forty­first 
इकताल蘭՟स
c) Forty­second 
बयाल蘭՟सवाँ
d) Forty­third 
त滊ताल蘭՟सवाँ
Correct Answer: Forty­second 
बयाल蘭՟सवाँ
Candidate Answer: Forty­second 
बयाल蘭՟सवाँ
 
Question 48. What do you call the study of fungi? 
कवक के अ掕檭ययन को 뼟庙या कहा जाता ह?ै
Options:



a) Mycology 
माइकॉलॉजी
b) Parasitology 
परैसाइटोलॉजी
c) Bacteriology 
बिे뼟庙ट䒈㰤रयोलॉजी
d) Ecology 
इकोलॉजी
Correct Answer: Mycology 
माइकॉलॉजी
Candidate Answer: Bacteriology 
बिे뼟庙ट䒈㰤रयोलॉजी
 
Question 49. Which among the following foreign countries was the first one to trade with India? 
笉�न汼न म触煤 स ेकौन स ेጂ쎽वदशेी दशे न ेसबस ेपहल ेभारत के साथ 켎ᚋयापार 飦कया था?
Options:
a) England 
इャं쇷ल滊ड
b) Netherlands 
नीदरल滊ड
c) France 
ꋌासं
d) Portugal 
पतुꃹ땮गाल
Correct Answer: Portugal 
पतुꃹ땮गाल
Candidate Answer: Portugal 
पतुꃹ땮गाल
 
Question 50. Which among the following is the name given to the cursor for the computer language 'LOGO'? 
कं瓾킪यटूर भाषा "LOGO" के 飣سجحलए कसꃹ땮र को 뼟庙या नाम 뜨�दया गया ह?ै
Options:
a) Robot 
रोबोट
b) Frog 
ꋌॉग
c) Spider 
腚㔀पाइडर
d) Turtle 
टटꃹ땮ल
Correct Answer: Turtle 
टटꃹ땮ल

Candidate Answer: Robot 
रोबोट
 
Question 51. Which of the following acids serves as an electrolyte in a lead storage battery? 
笉�न汼न म触煤 स ेकौन सा ए飣سجحसड (अ汼ल) एक ल蘭՟ड 腚㔀टोरजे बटैर蘭՟ म触煤 इल뼟庙怪툜ोलाइट के 杆᫂प म触煤 कायꃹ땮 करता ह?ै
Options:
a) Sulphuric acid 
स琤ꁔ抡唀य䒈ू㰤रक ए飣سجحसड
b) Lactic acid 
लिै뼟庙टक ए飣سجحसड
c) Hydrochloric acid 
हाइ라蕻ो뼟庙लो䒈㰤रक ए飣سجحसड
d) Nitric acid 
नाइ뜨�怪툜क ए飣سجحसड
Correct Answer: Sulphuric acid 
स琤ꁔ抡唀य䒈ू㰤रक ए飣سجحसड
Candidate Answer: Sulphuric acid 
स琤ꁔ抡唀य䒈ू㰤रक ए飣سجحसड
 
Question 52. Which of the following is an example of simple harmonic motion? 
笉�न汼न म触煤 स ेकौन सी सरल आवतꃹ땮 ग笉�त का उदाहरण ह?ै



Options:
a) Earth spinning on its axis 
अपन ेअ劊筡 पर घमुती हईु प㣬�वी
b) Simple pendulum motion 
सरल दोलन ग笉�त
c) Ball bouncing on floor 
फशꃹ땮 पर ग触煤द का उछाल
d) Motion of a ceiling fan 
छत के पखं ेक蝙
 ग笉�त
Correct Answer: Motion of a ceiling fan 
छत के पखं ेक蝙
 ग笉�त
Candidate Answer: Simple pendulum motion 
सरल दोलन ग笉�त
 
Question 53. Which of the following is the study of soil?
笉�न汼न म触煤 स ेकौन सा 飣سجحमᰖ糅ी का अ掕檭ययन ह?ै
Options:
a) Myrmecology 
म飣سجحमकॉलॉजी
b) Pedology 
पड़ेोलॉजी
c) Glaciology 
ャ쇷ल飣سجحशय嶨藣लॉजी
d) Cosmology 
कॉ腚㔀मोलॉजी
Correct Answer: Pedology 
पड़ेोलॉजी
Candidate Answer: Pedology 
पड़ेोलॉजी
 
Question 54. Who prepares National Income in India? 
भारत म触煤 रा⤔꧞怪툜蘭՟य आय कौन तयैार करता ह?ै
Options:
a) Planning commission 
योजना आयोग
b) Central Statistical Organization 
के䠌긥颅鹆蘭՟य सािं苯यक蝙
 सगंठन
c) Reserve Bank of India 
भारतीय 䒈㰤रजवꃹ땮 ब滊क
d) National Income Committee 
रा⤔꧞怪툜蘭՟य आय स飣سجحम笉�त
Correct Answer: Central Statistical Organization 
के䠌긥颅鹆蘭՟य सािं苯यक蝙
 सगंठन

Candidate Answer: Central Statistical Organization 
के䠌긥颅鹆蘭՟य सािं苯यक蝙
 सगंठन
 
Question 55. Which of the following range of Air Pollutant Index is considered as hazardous? 
वाय ु禎鞕दषूक सचूकाकं न े笉�न汼न म触煤 स े飦कस र触煤ज को ख़तरनाक माना ह?ै
Options:
a) 301­500
b) 201­300
c) 101­200
d) 401­500
Correct Answer: 301­500
Candidate Answer: 201­300
 
Question 56. Which of the following is the unit of Astronomical Distance? 
ए腚㔀怪툜ोनॉ飣سجحमकल दरू蘭՟ क蝙
 ईकाई 뼟庙या ह?ै
Options:
a) Meter/sec
b) Sec
c) Para/sec
d) Parsec
Correct Answer: Parsec
Candidate Answer: Parsec



 
Question 57. Who is the 'father' of White Revolution? 
सफेद ᗒ٘ाि䠌긥त के 笉�नमाꃹ땮ता कौन ह滊?
Options:
a) J.P. Narayan 
ज.ेपी. नारायण
b) Verghese Kurien 
वग✭ज कु䒈㰤रयन
c) Baba Amte 
बाबा आमटे
d) M.S. Swaminathan 
एम.एस 腚㔀वामीनाथन
Correct Answer: Verghese Kurien 
वग✭ज कु䒈㰤रयन
Candidate Answer: Verghese Kurien 
वग✭ज कु䒈㰤रयन
 
Question 58. The name of the longest muscle in human body is______________ 
मानव शर蘭՟र म触煤 सबस ेल汼बी मासंपशेी का नाम ____________है
Options:
a) Sartorius muscle 
सटो䒈㰤रयस मासंपशेी
b) Massete muscle 
म腚㔀सटे ेमासंपशेी
c) Stapedius muscle 
腚㔀टपे퍻े䆈डयस मासंपशेी
d) Gluteus Maximus muscle 
ャ쇷ल뜨�टयस म뼟庙सीमस मासंपशेी
Correct Answer: Sartorius muscle 
सटो䒈㰤रयस मासंपशेी
Candidate Answer: Sartorius muscle 
सटो䒈㰤रयस मासंपशेी
 
Question 59. Which Indian language is also spoken in Nepal, Pakistan, Bangladesh, Trinidad and Tobago, Guyana, Suriname, Jamaica, the Caribbean, Fiji, Mauritius,
and South Africa? 
नपेाल, पा飦क腚㔀तान, बाャ쇷लादशे, 먛琐Ꝡ嫪笉�नदाद और टोबगैो, गयुाना, सरू蘭՟नाम, जमकैा, कै䒈㰤र먛琐बयन, 飦फजी, मॉर蘭՟शस, और द뼭什劊筡ण अꋌ蝙
का म触煤 笉�न汼न म触煤 स ेकौन सी भारतीय भाषा बोल蘭՟ जाती ह?ै
Options:
a) Bhojpuri 
भोजपरु蘭՟
b) Punjabi 
पजंाबी
c) Tamil 
त飣سجحमल
d) Telugu 
तलेगुु

Correct Answer: Bhojpuri 
भोजपरु蘭՟
Candidate Answer: Bhojpuri 
भोजपरु蘭՟
 
Question 60. The cooling by a desert Cooler is based on:
डजेटꃹ땮 कूलर का शीतलन आधा䒈㰤रत ह:ै
Options:
a) Hot air replacement
हॉट एयर 䒈㰤र瓾킪लसेम触煤ट
b) Air dehydration
एयर डीहाईडरशेन
c) Evaporative Cooling
एवपैोर뜨े�टव कू飣سجحलगं
d) Air Rehydration
एयर 䒈㰤रहाइ라蕻शैन
Correct Answer: Evaporative Cooling
एवपैोर뜨े�टव कू飣سجحलगं
Candidate Answer: Air dehydration



एयर डीहाईडरशेन
 
Question 61. In which year was the Morley­Minto reform passed? 
मॉलꐂ硘­飣سجحमटंो सधुार 飦कस वषꃹ땮 म触煤 पा䒈㰤रत हआु था?
Options:
a) 1917
b) 1902
c) 1909
d) 1912
Correct Answer: 1909
Candidate Answer: 1909
 
Question 62. In which of the following layer of atmosphere the absorption and scattering of the solar ultraviolet radiation takes place? 
वातावरण क蝙
 कौन सी परत म触煤 सौर पराब滊गनी ጂ쎽व飦करण का अवशोषण और 먛琐बखराव होता ह?ै
Options:
a) Troposphere 
怪툜ोपोस飦फयर
b) Stratosphere 
腚㔀怪툜टेॉस飦फयर
c) Mesosphere 
मसेोस飦फयर
d) Thermosphere 
थमे嶶稇ि腚㔀फयर
Correct Answer: Stratosphere 
腚㔀怪툜टेॉस飦फयर
Candidate Answer: Mesosphere 
मसेोस飦फयर
 
Question 63. Article 60 of the Indian Constitution refers to: 
भारतीय सጂ쎽वधान का अनु쮫छदे 60 सदं飣سجحभꃹ땮त करता ह:ै
Options:
a) Election of the President of India 
भारत के रा⤔꧞怪툜प笉�त का 笉�नवाꃹ땮चन
b) Oath of the President 
रा⤔꧞怪툜प笉�त क蝙
 शपथ
c) Impeachment of the President 
रा⤔꧞怪툜प笉�त पर महा飣سجحभयोग
d) Vice­president of India 
भारत का उपरा⤔꧞怪툜प笉�त
Correct Answer: Oath of the President 
रा⤔꧞怪툜प笉�त क蝙
 शपथ

Candidate Answer: Election of the President of India 
भारत के रा⤔꧞怪툜प笉�त का 笉�नवाꃹ땮चन
 
Question 64. Which of the following is used to make light weight, but strong plastic? 
笉�न汼न म触煤 स े飦कसका 禎鞕योग ह琤ꁔके, ल飦कन मजबतू 瓾킪लाि腚㔀टक बनान ेके 飣سجحलए 飦कया जाता ह?ै
Options:
a) Nylon 
नायलॉन
b) Polythene 
पॉ飣سجحलथीन
c) Polyvinyl Chloride 
पॉल蘭՟ጂ쎽वनाइल 뼟庙लोराइड
d) Methyl Methacrylate 
飣سجحमथाइल मथेाए⥖ஞयलटे
Correct Answer: Polyvinyl Chloride 
पॉल蘭՟ጂ쎽वनाइल 뼟庙लोराइड
Candidate Answer: Nylon 
नायलॉन
 
Question 65. __________was the first Muslim ruler of Delhi. 
뜨�द琤ꁔल蘭՟ का पहला मिु腚㔀लम शासन _______था।
Options:
a) Akbar 



अकबर
b) Shahjahan 
शाहजहाँ
c) Qutub­ud­din­Aibak 
कुतबु㫒ु粦ीन ऐबक
d) Ala­ud­din Khilji 
अलाउदद蘭՟न 㠊ᾦखलजी
Correct Answer: Qutub­ud­din­Aibak 
कुतबु㫒ु粦ीन ऐबक
Candidate Answer: Qutub­ud­din­Aibak 
कुतबु㫒ु粦ीन ऐबक
 
Question 66. Who applied the concept of guerrilla warfare in India in 17th Century? 
17वी ंसद蘭՟ म触煤 飦कसन ेभारत म触煤 ग䒈㰤र琤ꁔला य㗛ु徨 क蝙
 अवधारणा को लाग ू飦कया था?
Options:
a) Shivaji 
飣سجحशवाजी
b) Sher Shah Suri 
शरेशाह सरू蘭՟
c) Genghis Khan 
ग触煤笉�घस खान
d) Maharana Pratap 
महाराणा 禎鞕ताप
Correct Answer: Shivaji 
飣سجحशवाजी
Candidate Answer: Shivaji 
飣سجحशवाजी
 
Question 67. Which of the following attribute in the Preamble states that 'No one should treat a fellow citizen as inferior'? 
禎鞕腚㔀तावना क蝙
 कौन सी ጂ쎽वशषेता म触煤 कहा गया ह ै飦क "飦कसी भी सह­नाग䒈㰤रक के साथ गौण 켎ᚋयवहार नह蘭՟ ंकरना चा뜨�हए"?
Options:
a) Justice 
䠌긥याय
b) Liberty 
अᶢ�धकार
c) Equality 
समानता
d) Fraternity 
भाईचारा
Correct Answer: Fraternity 
भाईचारा

Candidate Answer: Equality 
समानता
 
Question 68. Which of the following Indian states' police department launched "Operation Milan" to recover abducted youths? 
笉�न汼न म触煤 स े飦कस रा᱄¢य के प飣ुسجحलस ጂ쎽वभाग 儳�वारा अप蹓�त 켎ᚋयि뼟庙तय嶨藣 को अपन嶨藣 स े飣سجحमलान ेके 飣سجحलए "ऑपरशेन 飣سجحमलन" का शभुारभं 飦कया?
Options:
a) Haryana 
ह䒈㰤रयाणा
b) Gujarat 
गजुरात
c) Uttrakhand 
उ켮तराखडं
d) Uttar Pradesh 
उ켮तर 禎鞕दशे
Correct Answer: Uttar Pradesh 
उ켮तर 禎鞕दशे
Candidate Answer: Uttar Pradesh 
उ켮तर 禎鞕दशे
 
Question 69. Article 324­329 of the Indian Constitution deals with which of the following?
भारतीय सጂ쎽वधान के अनु쮫छदे 324­329 笉�न汼न म触煤 स े飦कसस ेस汼बᶢं�धत ह滊|
Options:



a) Tribunals
अᶢ�धकरण嶨藣
b) Elections
चनुाव
c) Cast System
जाती 켎ᚋयव腚㔀था
d) Panchayti system
पचंायती 켎ᚋयव腚㔀था
Correct Answer: Elections
चनुाव
Candidate Answer: Elections
चनुाव
 
Question 70. Which of the following are methods of heat transfer? 
笉�न汼न म触煤 स ेकौन सा ऊ⤔꧞मा 腚㔀थातंरण करन ेका तर蘭՟का ह?ै
Options:
a) Convection 
क䠌긥व뼟े庙शन
b) Evaporation 
इवपैरशेन
c) Revolution 
रवेलशून
d) Thermal Expansion 
थमꃹ땮ल इ뼟庙腚㔀प䠌ै긥शन
Correct Answer: Convection 
क䠌긥व뼟े庙शन
Candidate Answer: Convection 
क䠌긥व뼟े庙शन
 
Question 71. When was the Mumbai Stock Exchange set up? 
मबुई शयेर बाजार क蝙
 腚㔀थापना कब हईु थी?
Options:
a) 1947
b) 1900
c) 1857
d) 1875
Correct Answer: 1875
Candidate Answer: 1875
 
Question 72. World No tobacco day observed on: 
ጂ쎽व緽๯व त汼बाकू 笉�नषधे 뜨�दवस मनाया जाता ह ै:

Options:
a) 31st May 
31st मई
b) 21st May 
21st मई
c) 1st May 
1st मई
d) 5th June 
5th जनू

Correct Answer: 31st May 
31st मई

Candidate Answer: 21st May 
21st मई
 
Question 73. In North­East India, _________ is known to be the largest freshwater lake. 
उ켮तर蘭՟­पवू✭ भारत म触煤, ________सबस ेबड़ी ताज ेपानी क蝙
 झील ह।ै
Options:
a) Dal Lake 
डल झील
b) Chilika Lake 
ᶢ�च飣سجحलका झील
c) Loktak Lake 



लोकटक झील
d) Tsomoriri Lake 
켮सोमो䒈㰤रर蘭՟ झील
Correct Answer: Loktak Lake 
लोकटक झील
Candidate Answer: Dal Lake 
डल झील
 
Question 74. What is Myrmecology? 
म飣سجحमकॉलॉजी 뼟庙या ह?ै
Options:
a) Study of flies 
मि뼟庙खय嶨藣 का अ掕檭ययन
b) Study of ants 
ची뜨�टय嶨藣 का अ掕檭ययन
c) Study of bees 
मधमुि뼟庙खय嶨藣 का अ掕檭ययन
d) Study of spiders 
मक퍻䆈ड़य嶨藣 का अ掕檭ययन
Correct Answer: Study of ants 
ची뜨�टय嶨藣 का अ掕檭ययन
Candidate Answer: Study of spiders 
मक퍻䆈ड़य嶨藣 का अ掕檭ययन
 
Question 75. The study of earthquake is called: 
भकूंप के अ掕檭ययन को 뼟庙या कहा जाता ह?ै
Options:
a) Topology 
टोपोलॉजी
b) Hydrology 
हाइ라蕻ालॉजी
c) Limnology 
飣سجحल汼नोलॉजी
d) Seismology 
साइमालॉजी
Correct Answer: Seismology 
साइमालॉजी
Candidate Answer: Seismology 
साइमालॉजी
 
Question 76. Which of the following substance's smell is similar to Ethanoic acid? 
笉�न汼न म触煤 स े飦कस 禎鞕दाथꃹ땮 क蝙
 गधं एथनोइक ए飣سجحसड जसैी होती ह?ै
Options:
a) Tomato juice 
टमाटर का रस
b) Kerosene 
飣سجحमᰖ糅ी का तले
c) Vinegar 
飣سجحसरका
d) Lemon 
नीबूं
Correct Answer: Vinegar 
飣سجحसरका
Candidate Answer: Vinegar 
飣سجحसरका
 
Question 77. What happens when there is a demand deficiency in an economy? 
जब अथꃹ땮켎ᚋयव腚㔀था म触煤 मागं क蝙
 कमी होती ह ैतो 뼟庙या होता ह?ै
Options:
a) Poverty 
गर蘭՟बी
b) Stagnation 
笉�नि⤔꧞ᗒ٘यता
c) Recession 



켎ᚋयापा䒈㰤रक मदं蘭՟
d) Inflation 
म颅鹆ा腚㔀फ蝙
笉�त
Correct Answer: Stagnation 
笉�नि⤔꧞ᗒ٘यता
Candidate Answer: Recession 
켎ᚋयापा䒈㰤रक मदं蘭՟
 
Question 78. How do you calculate the poverty line? 
गर蘭՟बी रखेा क蝙
 गणना कैस ेक蝙
 जाती ह?ै
Options:
a) Income of an individual under a threshold value published by government of India 
भारत सरकार 儳�वारा 禎鞕का飣سجحशत एक म琤ꁔय सीमा के तहत एक 켎ᚋयि뼟庙त क蝙
 आय
b) Income of any individual less than 50 INR in a day 
飦कसी 켎ᚋयि뼟庙त क蝙
 एक 뜨�दन क蝙
 आय 50 ⽢∍पय ेस ेकम हो
c) Average income of all the individuals in a country 
दशे म触煤 सभी 켎ᚋयि뼟庙तय嶨藣 क蝙
 आय औसत एकहो
d) Income of a family less than 100 INR in a day 
एक प䒈㰤रवार क蝙
 एक 뜨�दन क蝙
 आय 100 ⽢∍पय ेस ेकम हो
Correct Answer: Income of an individual under a threshold value published by government of India 
भारत सरकार 儳�वारा 禎鞕का飣سجحशत एक म琤ꁔय सीमा के तहत एक 켎ᚋयि뼟庙त क蝙
 आय
Candidate Answer: Income of an individual under a threshold value published by government of India 
भारत सरकार 儳�वारा 禎鞕का飣سجحशत एक म琤ꁔय सीमा के तहत एक 켎ᚋयि뼟庙त क蝙
 आय
 
Question 79. Which among the following books was an autobiography written by Jawaharlal Nehru in prison? 
笉�न汼न म触煤 स ेकौन सी आ켮मकथा जवारहरलाल नहे⽢∍ 儳�वार जले म触煤 飣سجحलखी गई थी?
Options:
a) Glimpses of World History 
िャ쇷ल汼瓾킪ससे ऑफ़ व琤ꁔडꃹ땮 뜨�ह腚㔀怪툜蘭՟
b) Discovery of India 
퍻䆈ड腚㔀कवर蘭՟ ऑफ़ इ퍻ं䆈डया
c) Nehru Benakaab 
नहे⽢∍ बनेकाब
d) Toward Freedom 
टुवडꃹ땮 ꋌ蝙
डम
Correct Answer: Toward Freedom 
टुवडꃹ땮 ꋌ蝙
डम
Candidate Answer: Discovery of India 
퍻䆈ड腚㔀कवर蘭՟ ऑफ़ इ퍻ं䆈डया
 

Question 80. Which of the following is not a natural source of hydrocarbon? 
笉�न汼न म触煤 स ेकौन सा हाइ라蕻ोकाबꃹ땮न का एक 禎鞕ाᗒ٘笉�तक 鬗數ोत नह蘭՟ ंह?ै
Options:
a) Natural Gas 
禎鞕ाकृ笉�तक गसै
b) Coal 
कोयला
c) Petroleum 
प怪े툜ो飣سجحलयम
d) Mica 
अ䅎슾क
Correct Answer: Mica 
अ䅎슾क
Candidate Answer: Petroleum 
प怪े툜ो飣سجحलयम
 
Question 81. How many Schedules are there in the Indian Constitution? 
भारतीय सጂ쎽वधान म触煤 飦कतनी अनसुᶢ�चया ंह滊?
Options:
a) 8
b) 10
c) 11
d) 12
Correct Answer: 12



Candidate Answer: 12
 
Question 82. The Grand Trunk Road built by Sher Shah Suri connects: 
शरेशाह सरू蘭՟ 儳�वारा बनाया गया 胠嚱滊ड 怪툜कं रोड 飦कन 劊筡Ꝡ嫪嶨藣 को जोड़ता ह?ै
Options:
a) Agra ­ Punjab 
आगरा ­ पजंाब
b) Punjab ­ East Bengal 
पजंाब ­ पवूꃹ땮 बगंाल
c) Lahore ­ East Bengal 
लाहौर ­ पवूꃹ땮 बगंाल
d) Multan ­ Agra 
म琤ꁔतान ­ आगरा
Correct Answer: Punjab ­ East Bengal 
पजंाब ­ पवूꃹ땮 बगंाल
Candidate Answer: Lahore ­ East Bengal 
लाहौर ­ पवूꃹ땮 बगंाल
 
Question 83. In which year the constituent assembly of India started functioning? 
भारत क蝙
 सጂ쎽वधान सभा न े飦कस वषꃹ땮 म触煤 कामकाज 禎鞕ारभं 飦कया?
Options:
a) 1945
b) 1946
c) 1947
d) 1948
Correct Answer: 1946
Candidate Answer: 1946
 
Question 84. Which part of human body is affected by the ALZHEIMER'S disease?
"अ琤ꁔज़ाइमर" रोग के कारण मानव शर蘭՟र का कौन सा अगं 禎鞕भाጂ쎽वत होता ह?ै
Options:
a) Heart 
蹓�दय
b) Kidney 
गदुाꃹ땮
c) immune system 
禎鞕笉�तर劊筡ी तꝠं嫪
d) brain 
मि腚㔀त⤔꧞क
Correct Answer: brain 
मि腚㔀त⤔꧞क

Candidate Answer: Heart 
蹓�दय
 
Question 85. Which of the following is true for photoperiodic? 
फोटोप䒈े㰤रयोडीज़म के स䠌긥दभꃹ땮 म触煤 뼟庙या सह蘭՟ ह?ै
Options:
a) It occurs only in plants 
य ेकेवल पौध嶨藣 म触煤 ह蘭՟ होता है
b) It is related to flowering in plants 
य ेपौध嶨藣 म触煤 प⤔ु꧞पण स ेस汼बᶢं�धत है
c) It is related to feathers of animals 
य ेजानवर嶨藣 के पखं嶨藣 स ेस汼बᶢं�धत है
d) It is the reaction of organisms to the length of day or night 
य ेजीव嶨藣 के 뜨�दन और रात क蝙
 ल汼बाई क蝙
 禎鞕笉�त飦ᗒ٘या है
Correct Answer: It is the reaction of organisms to the length of day or night 
य ेजीव嶨藣 के 뜨�दन और रात क蝙
 ल汼बाई क蝙
 禎鞕笉�त飦ᗒ٘या है
Candidate Answer: It is related to flowering in plants 
य ेपौध嶨藣 म触煤 प⤔ु꧞पण स ेस汼बᶢं�धत है
 
Question 86. 8 litres of water is added to 32 litres of a solution containing 20% of alcohol in water. What is the approximate concentration of alcohol in the solution
now?
20 禎鞕笉�तशत अ琤ꁔकोहल वाल े32 ल蘭՟टर के घोल म触煤 8 ल蘭՟टर पानी 飣سجحमलाया जाता ह।ै अब इस घोल म触煤 अ琤ꁔकोहल क蝙
 अनमुा笉�नत माꝠ嫪ा का 禎鞕笉�तशत 뼟庙या ह?ै
Options:



a) 24%
b) 16%
c) 8%
d) 12%
Correct Answer: 16%
Candidate Answer: 16%
 
Question 87. The altitude of an equilateral triangle of side 2/√3 cm is:
2/√3 समेी भजुा वाल ेसमबाह ु먛琐Ꝡ嫪भजु क蝙
 ऊंचाई 飦कतनी होगी?
Options:
a) 4/3 m
4/3 मी
b) 4/√3 cm
4/√3 समेी
c) 4/3 cm
4/3 समेी
d) 1 cm
1 समेी
Correct Answer: 1 cm
1 समेी
Candidate Answer: 4/3 cm
4/3 समेी
 
Question 88. The measures of three angles of a quadrilateral are in the ratio 1: 2: 3. If the sum of these three measures is equal to the measure of the fourth angle,
find the smallest angle.
चतभुꃹु땮भ के तीन कोण嶨藣 का माप 1: 2: 3 के अनपुात म触煤 ह।ै य뜨�द इन तीन嶨藣 का माप चौथ ेकोण के बराबर ह ैतो सबस ेछोटा कोण ᠓肌ात कर触煤।
Options:
a) 30°
b) 40°
c) 60°
d) 50°
Correct Answer: 30°
Candidate Answer: 30°
 
Question 89. A Set A consists of integers 27, 28, 30, 32, and 33. If integer k is included in the set, the average of set A will increase by 30%. What is the value of
integer K?
सटे A म触煤 27, 28, 30, 32 और 33 पणूा魯ꌷक ह।ै य뜨�द पणूा魯ꌷक K को सटै म触煤 सि汼म飣سجحलत 飦कया जाता ह,ै तो सटे A के औसत म触煤 30 禎鞕笉�तशत वጂ쎽㗛徨 होगी। पणूा魯ꌷक K का मान 뼟庙या ह?ै
Options:
a) 68
b) 79
c) 84
d) 92

Correct Answer: 84
Candidate Answer: 84
 
Question 90. Numbers of different colleges in India in different years is given in the graph below. Percent distribution of different colleges in year 1980 and 1990 is
show in pie chart
नीच े뜨�दए गए 胠嚱ाफ म触煤 ጂ쎽व飣سجحभ䠌긥न वष眾ᯑ म触煤 भारत म触煤 ጂ쎽व飣سجحभ䠌긥न महाጂ쎽व儳�यालय嶨藣 क蝙
 स苯या द蘭՟ गयी ह।ै वषꃹ땮 1980 और 1990 म触煤 ጂ쎽व飣سجحभ䠌긥न महाጂ쎽व儳�यालय嶨藣 के 禎鞕笉�तशत ጂ쎽वतरण को पाई चाटꃹ땮 म触煤 दशाꃹ땮या गया ह।ै



What is the difference in number of engineering colleges in 80's and 90's.
80 के दशक और 90 के दशक म触煤 अ飣سجحभया먛琐Ꝡ嫪क蝙
 महाጂ쎽व儳�यालय嶨藣 क蝙
 स苯या का अतंर 飦कतना ह?ै
Options:
a) 13000
b) 10000
c) 15000
d) none of these
इनम触煤 स ेकोई नह蘭՟ं
Correct Answer: 13000
Candidate Answer: 13000
 
Question 91. If 25 is added to a number it becomes 3 less than thrice of the number. Then number is:
य뜨�द 飦कसी स苯या म触煤 25 जोड़ा जाता ह ैतो यह स苯या इसके तीन गणुा स ेतीन कम आती ह।ै तो स苯या ᠓肌ात क蝙
िजएः
Options:
a) 15
b) 14
c) 19
d) 20
Correct Answer: 14
Candidate Answer: 14
 
Question 92. Rama mixes 20% of kerosene to his petrol and then he sells the whole mixture at the price of petrol. If the cost price of the kerosene is 40% of the CP
of petrol. What is the net profit %?
रामा अपन ेप怪े툜ोल म触煤 20 禎鞕笉�तशत कैरोसीन 飣سجحमलाकर सपंणूꃹ땮 飣سجحम菍�ण को प怪े툜ोल क蝙
 क蝙
मत पर बचेता ह।ै य뜨�द कैरोसीन का ᗒ٘य म琤ꁔय प怪े툜ोल के ᗒ٘य म琤ꁔय का 40 禎鞕笉�तशत ह,ै तो कुल लाभ 飦कतना होगा?
Options:
a) 11.11%
b) 11.5%
c) 12.5%



d) 9.5%
Correct Answer: 11.11%
Candidate Answer: 11.11%
 

Question 93. What is x, if x3 = 1.53 ­ 0.93 ­ 2.43
य뜨�द x3 = 1.53 ­ 0.93 ­ 2.43 तो X का मान 飦कतना ह?ै
Options:
a) ­0.5
b) 0.6
c) ­0.7
d) ­1.6
Correct Answer: 0.6
Candidate Answer: 0.6
 
Question 94. A right circular cylindrical tunnel of diameter 5m and length 10m is to be constructed from a sheet of iron. The area of iron sheet required will be:
लोह ेक蝙
 एक शीट स े5 मीटर 䛒यास और 10 मीटर लबंाई वाल蘭՟ एक सम व켮ताकार बलेनाकार सरुगं बनायी जानी ह।ै इसके 飣سجحलए आव緽๯यक लोह ेक蝙
 शीट का 劊筡Ꝡ嫪फल होगा­
Options:
a) 52Π
b) 50Π
c) 51Π
d) 49Π
Correct Answer: 50Π
Candidate Answer: 50Π
 
Question 95. A factory's yearly budget for the purchase of employees' protection shoes increased by 60% this year over last year. If the price of the shoes increased
by 20% this year, then the number of shoes it can purchase this year is what percent greater than the number of shoes it purchased last year?
飦कसी कारखान ेम触煤 ጂ쎽पछल ेवषꃹ땮 क蝙
 तलुना म触煤 इस वषꃹ땮 कमꃹ땮चा䒈㰤रय嶨藣 के सरु劊筡ा जतू嶨藣 क蝙
 खर蘭՟द पर बजट म触煤 60 禎鞕笉�तशत क蝙
 वጂ쎽㗛徨 होती ह,ै य뜨�द इस वषꃹ땮 जतू嶨藣 क蝙
 क蝙
मत म触煤 20 禎鞕笉�तशत क蝙
 वጂ쎽㗛徨 क蝙
 जाती है
तो इस वषꃹ땮 खर蘭՟द ेजान ेवाल ेजतू嶨藣 क蝙
 स苯या ጂ쎽पछल ेवषꃹ땮 खर蘭՟द ेगए जतू嶨藣 क蝙
 स苯या स े飦कतन े禎鞕笉�तशत अᶢ�धक ह?ै
Options:
a) 40%
b) 33⅓%
c) 42%
d) 48%
Correct Answer: 33⅓%
Candidate Answer: 33⅓%
 

Question 96. 

Options:
a) 0.25
b) 6.25
c) 2.5
d) 53
Correct Answer: 0.25
Candidate Answer: 0.25
 
Question 97. Numbers of different colleges in India in different years is given in the graph below. Percent distribution of different colleges in year 1980 and 1990 is
show in pie chart
नीच े뜨�दए गए 胠嚱ाफ म触煤 ጂ쎽व飣سجحभ䠌긥न वष眾ᯑ म触煤 भारत म触煤 ጂ쎽व飣سجحभ䠌긥न महाጂ쎽व儳�यालय嶨藣 क蝙
 स苯या द蘭՟ गयी ह।ै वषꃹ땮 1980 और 1990 म触煤 ጂ쎽व飣سجحभ䠌긥न महाጂ쎽व儳�यालय嶨藣 के 禎鞕笉�तशत ጂ쎽वतरण को पाई चाटꃹ땮 म触煤 दशाꃹ땮या गया ह।ै



The difference in number of management colleges in 1980 to 1990 is:
1980 स े1990 म触煤 禎鞕बधंन महाጂ쎽व儳�यालय嶨藣 क蝙
 स苯या का अतंर 飦कतना ह?ै
Options:
a) 3600
b) 3000
c) 5600
d) 1500
Correct Answer: 5600
Candidate Answer: 5600
 

Question 98. Walking at 3/4 of his usual speed, a man reaches his office 20 minutes late. Then his usual time for walking to his office is:
एक 켎ᚋयि뼟庙त अपनी सामा䠌긥य ग笉�त के 3/4 भाग क蝙
 ग笉�त स ेचलकर अपन ेकायाꃹ땮लय 20 飣سجحमनट दरे蘭՟ स ेपहुंचता ह।ै उस ेअपन ेकायाꃹ땮लय तक चल कर जान ेम触煤 सामा䠌긥यतः 飦कतना समय लगता ह?ै
Options:
a) 1 hour
1 घटंा
b) 30 minutes
30 飣سجحमनट
c) 45 minutes
45 飣سجحमनट
d) 40 minutes
40 飣سجحमनट
Correct Answer: 1 hour
1 घटंा
Candidate Answer: 1 hour
1 घटंा
 
Question 99. ABC is an equilateral triangle. Points D, E, F are taken in sides AB, BC, CA respectively, so that AD = BE = CF. then AE, BF, CD enclosed a triangle which



is:
ABC एक समबाह ु먛琐Ꝡ嫪भजु ह।ै AB, BC, CA भजुाओ ंपर ᗒ٘मशः D,E,F तीन 먛琐बदं ु飣سجحलए जात ेह滊 ता飦क AD = BE = CF हो तो AE, BF, CD 儳�वारा 笉�न飣سجحमꃹ땮त 먛琐Ꝡ嫪भजु कैसा होगा?
Options:
a) equilateral triangle
समबाह ु먛琐Ꝡ嫪भजु
b) isosceles triangle
सम儳�ጂ쎽वबाह ु먛琐Ꝡ嫪भजु
c) right angle triangle
समकोण 먛琐Ꝡ嫪भजु
d) none of these
इनम触煤 स ेकोई नह蘭՟ं
Correct Answer: equilateral triangle
समबाह ु먛琐Ꝡ嫪भजु
Candidate Answer: equilateral triangle
समबाह ु먛琐Ꝡ嫪भजु
 
Question 100. Sandeep sells an article at a loss of 10%. Had he bought it at 20% less and sold it for Rs. 55 more, he could have gained 40%. What is the cost price
of the article?
सदं蘭՟प 飦कसी व腚㔀त ुको 10 禎鞕笉�तशत क蝙
 हा笉�न पर बचेता ह।ै य뜨�द उसन ेइस े20 禎鞕笉�तशत कम पर खर蘭՟दा और Rs. 55 अᶢ�धक पर बचेा होता तो उस े40 禎鞕笉�तशत का लाभ होता । व腚㔀त ुका ᗒ٘य म琤ꁔय
飦कतना ह?ै
Options:
a) Rs. 200
b) Rs. 225
c) Rs. 250
d) Rs. 275
Correct Answer: Rs. 250
Candidate Answer: Rs. 250
 
Question 101. Numbers of different colleges in India in different years is given in the graph below. Percent distribution of different colleges in year 1980 and 1990 is
show in pie chart
नीच े뜨�दए गए 胠嚱ाफ म触煤 ጂ쎽व飣سجحभ䠌긥न वष眾ᯑ म触煤 भारत म触煤 ጂ쎽व飣سجحभ䠌긥न महाጂ쎽व儳�यालय嶨藣 क蝙
 स苯या द蘭՟ गयी ह।ै वषꃹ땮 1980 और 1990 म触煤 ጂ쎽व飣سجحभ䠌긥न महाጂ쎽व儳�यालय嶨藣 के 禎鞕笉�तशत ጂ쎽वतरण को पाई चाटꃹ땮 म触煤 दशाꃹ땮या गया ह।ै



Determine the increment % of number of medical colleges in 1960 to 2000
1960 स े2000 म触煤 ᶢ�च飦क켮सा महाጂ쎽व儳�यालय嶨藣 क蝙
 स苯या म触煤 飦कतन े禎鞕笉�तशत क蝙
 वጂ쎽㗛徨 हईु ह?ै
Options:
a) data insufficient
आकंड़ ेअपयाꃹ땮瓾킪त
b) 12
c) 10
d) none of these
इनम触煤 स ेकोई नह蘭՟ं

Correct Answer: data insufficient
आकंड़ ेअपयाꃹ땮瓾킪त
Candidate Answer: none of these
इनम触煤 स ेकोई नह蘭՟ं
 
Question 102. The table given below shows the statistics of top 10 scorers in IPL 2016. Few entries are missing in the table. Here INN, AVG, and SR stands for
innings played, batting average, and batting strike rate respectively. Based on the table answer the following question:

(Strike rate= Runs/ balls faced x 100) (AVG= Runs/ INN ­ NOT OUT)

नीच ेद蘭՟ गयी ता飣سجحलका म触煤 आईपीएल 2016 म触煤 10 सबस ेअᶢ�धक रन बनान ेवाल े㠊ᾦखला퍻䆈ड़य嶨藣 के आकंड़ े뜨�दए गए ह滊। ता飣سجحलका म触煤 कुछ 腚㔀थान 䒈㰤र뼟庙त ह滊| यहा ंपार蘭՟, औसत और 腚㔀怪툜ाइक रटे ᗒ٘मशः खले蘭՟ गयी
पा䒈㰤रया,ं ब뜨ै�टगं औसत और ब뜨ै�टगं 腚㔀怪툜ाइक दर ह।ै ता飣سجحलका के आधार पर 笉�न汼ना飦कत 禎鞕緽๯न का उ켮तर द蘭՟िजएः

(腚㔀怪툜ाइक दर= रन/ खले蘭՟ गयी ग触煤द x 100) (औसत: रन/नोट आउट प䒈㰤रया)ं



How many total balls were faced by Warner?
वानꃹ땮र 儳�वारा कुल 飦कतनी ग触煤द ेखले蘭՟ गयी?ं
Options:
a) 331
b) 364
c) 423
d) 286

Correct Answer: 364
Candidate Answer: 286
 
Question 103. The radius of a wheel moving on a road, is 8¾ cm. How many rounds it will take to complete 55 metre distance.
सड़क पर घमूत ेएक प뜨�हए क蝙
 먛琐Ꝡ嫪᱄¢या 8¾ समेी ह।ै 55 मीटर क蝙
 दरू蘭՟ तय करन ेम触煤 इस े飦कतना च뼟庙कर लगाना होगा?
Options:
a) 10
b) 11
c) 100
d) 55
Correct Answer: 100
Candidate Answer: 100
 
Question 104. A vertical pole AB is standing at the center B of a square PQRS. If PR subtends an angle of 90° at the top, A of the pole, then the angle subtended by a
side of the square at A is:
वगꃹ땮 PQRS के के䠌긥颅鹆 B पर एक ल汼बवत खभंा AB ह।ै य뜨�द PR खभं ेके शीषꃹ땮 A पर 90 퍻䆈ड胠嚱ी का कोण बनाती ह,ै तो वगꃹ땮 क蝙
 भजुा 儳�वारा A पर 飦कतन े퍻䆈ड胠嚱ी का कोण बनाया जाएगा|
Options:
a) 30°
b) 45°
c) 60°
d) None of these
इनम触煤 स ेकोई नह蘭՟ं
Correct Answer: 60°
Candidate Answer: 45°
 
Question 105. The angle of elevation of the sun when the length of the shadow of a pole is equal to its height is:
जब खभं ेक蝙
 परछाई क蝙
 लबंाई उसक蝙
 ऊंचाई के समान हो तो सयूꃹ땮 का उ䠌긥नयन कोण 飦कतना होगा?
Options:



a) 30°
b) 45°
c) 60°
d) 90°
Correct Answer: 45°
Candidate Answer: 45°
 
Question 106. The table given below shows the statistics of top 10 scorers in IPL 2016. Few entries are missing in the table. Here INN, AVG, and SR stands for
innings played, batting average, and batting strike rate respectively. Based on the table answer the following question:

(Strike rate= Runs/ balls faced x 100) (AVG= Runs/ INN ­ NOT OUT)

नीच ेद蘭՟ गयी ता飣سجحलका म触煤 आईपीएल 2016 म触煤 10 सबस ेअᶢ�धक रन बनान ेवाल े㠊ᾦखला퍻䆈ड़य嶨藣 के आकंड़ े뜨�दए गए ह滊। ता飣سجحलका म触煤 कुछ 腚㔀थान 䒈㰤र뼟庙त ह滊| यहा ंपार蘭՟, औसत और 腚㔀怪툜ाइक रटे ᗒ٘मशः खले蘭՟ गयी
पा䒈㰤रया,ं ब뜨ै�टगं औसत और ब뜨ै�टगं 腚㔀怪툜ाइक दर ह।ै ता飣سجحलका के आधार पर 笉�न汼ना飦कत 禎鞕緽๯न का उ켮तर द蘭՟िजएः

(腚㔀怪툜ाइक दर= रन/ खले蘭՟ गयी ग触煤द x 100) (औसत: रन/नोट आउट प䒈㰤रया)ं

How many times was Shikhar Dhawan not out?
飣سجحशखर धवन 飦कतनी बार नॉट आउट रहा?



Options:
a) 1
b) 2
c) 3
d) 4
Correct Answer: 4
Candidate Answer: 3
 
Question 107. Numbers of different colleges in India in different years is given in the graph below. Percent distribution of different colleges in year 1980 and 1990 is
show in pie chart
नीच े뜨�दए गए 胠嚱ाफ म触煤 ጂ쎽व飣سجحभ䠌긥न वष眾ᯑ म触煤 भारत म触煤 ጂ쎽व飣سجحभ䠌긥न महाጂ쎽व儳�यालय嶨藣 क蝙
 स苯या द蘭՟ गयी ह।ै वषꃹ땮 1980 और 1990 म触煤 ጂ쎽व飣سجحभ䠌긥न महाጂ쎽व儳�यालय嶨藣 के 禎鞕笉�तशत ጂ쎽वतरण को पाई चाटꃹ땮 म触煤 दशाꃹ땮या गया ह।ै

What is the % increment in the number of colleges from 1960 to 1980?
1960 स े1980 के दौरान महाጂ쎽व儳�यालय嶨藣 क蝙
 स苯या म触煤 飦कतन े禎鞕笉�तशत वጂ쎽㗛徨 हईु ह?ै



Options:
a) 300%
b) 700%
c) 750%
d) 800%

Correct Answer: 300%
Candidate Answer: 300%
 
Question 108. Instead of dividing 391 cookies among 3 children A, B, C in the ratio 1/5:1/4:1/8, it was divided in to the ratio 5:4:8. Who gains the most and how
many?
391 कुक蝙
ज को तीन ब쮫च嶨藣 A, B, C म触煤 1/5 : 1/4: 1/8 के अनपुात म触煤 बाटंन ेके बजाए इस े5:4:8 के अनपुात म触煤 बाटंा गया। सबस ेअᶢ�धक लाभ 飦कस ेऔर 飦कतना हआु?

Options:
a) A, 21 cookies
A, 21 कुक蝙
ज
b) B, 78 cookies
B, 78 कुक蝙
ज
c) C, 99 cookies
C, 99 कुक蝙
ज
d) C, 78 cookies
C, 78 कुक蝙
ज
Correct Answer: C, 99 cookies
C, 99 कुक蝙
ज
Candidate Answer: C, 99 cookies
C, 99 कुक蝙
ज
 
Question 109. 

Options:
a) 7/6
b) 5/6
c) 5/1
d) 7/1
Correct Answer: 5/1
Candidate Answer: 5/1
 
Question 110. Which of the following fractions does not lie between 5/6 and 8/15?
笉�न汼ना飦कत म触煤 स ेकौन सा 飣سجحभ䠌긥न 5/6 और 8/15 के म掕檭य नह蘭՟ ंआता ह?ै
Options:
a) 2/3
b) 3/4
c) 4/5
d) 6/7
Correct Answer: 6/7
Candidate Answer: 6/7
 
Question 111. If A earns 25% more than B then how much percent does B earns less than A:
य뜨�द A, B स े25 禎鞕笉�तशत अᶢ�धक कमाता ह ैतो B, A स े飦कतना कम कमाता ह?ै
Options:
a) 15%
b) 20%
c) 25%
d) 30%
Correct Answer: 20%
Candidate Answer: 20%
 
Question 112. The number 334 x 545 x 7p is divisible by 3340 if p is at least.
334 x 545 x 7p स苯या 3340 स ेጂ쎽वभा᱄¢य ह,ै तो p का 䠌긥यनूतम मान 뼟庙या ह?ै
Options:
a) 2
b) 4



c) 3
d) 1
Correct Answer: 4
Candidate Answer: 1
 
Question 113. If 42 persons consume 144 kg of wheat in 15 days, then in how many days will 30 persons consume 48 kg of wheat?
य뜨�द 42 켎ᚋयि뼟庙तय嶨藣 儳�वारा 15 뜨�दन嶨藣 म触煤 144 飦कलो胠嚱ाम गहेूं क蝙
 खपत क蝙
 जाती ह,ै तो 30 켎ᚋयि뼟庙तय嶨藣 儳�वारा 48 飦कलो胠嚱ाम गहेूं क蝙
 खपत 飦कतन े뜨�दन嶨藣 म触煤 होगी?

Options:
a) 8 days
8 뜨�दन
b) 7 days
7 뜨�दन
c) 12 days
12 뜨�दन
d) 6 days
6 뜨�दन
Correct Answer: 7 days
7 뜨�दन
Candidate Answer: 7 days
7 뜨�दन
 
Question 114. 

Options:
a) 287 π
b) 547 π
c) 574 π
d) 278 π
Correct Answer: 574 π
Candidate Answer: 574 π
 
Question 115. The difference between C I and S I for 2 years at 10% rate of interest is Rs. 4. Find the sum of money.
10 禎鞕笉�तशत 䛒याज दर पर 2 वष眾ᯑ के 飣سجحलए चᗒ٘वጂ쎽㗛徨 और साधारण 䛒याज का अतंर Rs. 4 ह।ै रा飣سجحश ᠓肌ात क蝙
िजए।
Options:
a) Rs. 400
b) Rs. 200
c) Rs. 300
d) Rs. 800
Correct Answer: Rs. 400
Candidate Answer: Rs. 400
 
Question 116. If the product of three consecutive numbers is 210 then sum of the smaller numbers is:
य뜨�द तीन ᗒ٘飣سجحमक स苯याओ ंका गणुनफल 210 ह ैतो दो छोट蘭՟ स苯याओ ंका योग 뼟庙या होगा?
Options:
a) 3
b) 4
c) 5
d) 11
Correct Answer: 11
Candidate Answer: 11
 
Question 117. 

Options:
a) 

b) (x + y)3(y + z)3(z + x)3

c) (x + y)(y + z)(z + x)



d) (x + y)(y + z)
Correct Answer: (x + y)(y + z)(z + x)

Candidate Answer: (x + y)(y + z)(z + x)
 
Question 118. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

A person who thinks he is ill all the time
Options:
a) Hypochondriac
b) Neophyte
c) Maniac
d) Misanthrope
Correct Answer: Hypochondriac
Candidate Answer: Neophyte
 
Question 119. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

He had wonderful gifts of_______, and spoke to the birds.
Options:
a) uptight
b) folly
c) insight
d) dullness
Correct Answer: insight
Candidate Answer: insight
 
Question 120. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

Rahul was surprised to see a _______smile on Tarun's face.
Options:
a) Ugly
b) Symbolic
c) Opaque
d) Genuine
Correct Answer: Genuine
Candidate Answer: Ugly
 
Question 121. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

He completed all projects on time except for two of them, which he found too difficult to ___________.
Options:
a) embrace
b) comprehend
c) acknowledge
d) discern
Correct Answer: comprehend
Candidate Answer: acknowledge
 
Question 122. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

The mother looked _________ as her child began to walk much before the month prescribed by the doctors.
Options:
a) astonishingly
b) predictably
c) irately
d) menacingly
Correct Answer: astonishingly
Candidate Answer: astonishingly
 
Question 123. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

Since my mother was angry so I did not utter a word.
Options:
a) Was angry so
b) Utter a word
c) Since my mother
d) No error
Correct Answer: Was angry so
Candidate Answer: No error
 



Question 124. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Whole bag of tricks
Options:
a) Make use of the best resources from the ones that are available
b) Make use of all the possibilities or techniques to achieve something
c) Make use of all opportunities that cross your path
d) Make use of all tricks to win the hearts of people
Correct Answer: Make use of all the possibilities or techniques to achieve something
Candidate Answer: Make use of the best resources from the ones that are available
 
Question 125. Choose the word opposite in meaning to the given word.

Devout
Options:
a) Pious
b) Pure
c) Treacherous
d) Ardent
Correct Answer: Treacherous
Candidate Answer: Treacherous
 
Question 126. Choose the word opposite in meaning to the given word.

Accentuate
Options:
a) Disparage
b) Enunciate
c) Aggrandize
d) Exacerbate
Correct Answer: Disparage
Candidate Answer: Disparage
 
Question 127. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:
a) Combersome
b) Cumbersome
c) Combbersom
d) Coombersome
Correct Answer: Cumbersome
Candidate Answer: Cumbersome
 
Question 128. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Achieve
Options:
a) Accomplish
b) Destroy
c) Abdicate
d) Bifurcate
Correct Answer: Accomplish
Candidate Answer: Abdicate
 
Question 129. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

The lawyer deduced from the existing evidences that the accused was involved in the heinous crime.
Options:
a) In the heinous crime
b) Deduced from the
c) Accused was involved
d) No error
Correct Answer: No error
Candidate Answer: Accused was involved
 
Question 130. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Going against the grain
Options:
a) Doing things differently from what you usually do
b) Doing things against the wishes of your close relations
c) Doing things which you never heard of



d) Doing things which no one else has ever done till now

Correct Answer: Doing things differently from what you usually do
Candidate Answer: Doing things against the wishes of your close relations
 
Question 131. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

She exercised discretion in investigating whether her husband eloped with his ex­girlfriend.
Options:
a) Discretion in
b) Investigating whether
c) Eloped with
d) No error
Correct Answer: No error
Candidate Answer: No error
 
Question 132. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Pull a rabbit out of a hat
Options:
a) To let something happen and you have no control over it.
b) To do something unexpected
c) To be someone worth having
d) To make a special effort
Correct Answer: To do something unexpected
Candidate Answer: To make a special effort
 
Question 133. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

A place where coins are made
Options:
a) Mint
b) Factory
c) Connery
d) Monetary
Correct Answer: Mint
Candidate Answer: Mint
 
Question 134. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

The travellers were pacified when to hear that the plane had landed on the runway much before the official announcement.
Options:
a) Landed on the runway
b) Much before the
c) Were pacified when
d) No error
Correct Answer: Were pacified when
Candidate Answer: Were pacified when
 
Question 135. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Turn a blind eye.
Options:
a) To take on a task that is way too big
b) To work late into the night
c) To present a counter argument
d) To ignore situation, facts or reality
Correct Answer: To ignore situation, facts or reality
Candidate Answer: To ignore situation, facts or reality
 
Question 136. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

Usage of an incorrect word in place of the one which is similar in pronunciation
Options:
a) Spoonerism
b) Malapropism
c) Blooper
d) Corpsing
Correct Answer: Malapropism
Candidate Answer: Spoonerism



 
Question 137. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Let the chips fall where they may
Options:
a) Let your sacrifices in life be known to everyone
b) Let the difficult situations in life come to an end regardless of the results
c) Let the joys of life take precedence over your sorrows
d) Let something happen without bothering about the consequences
Correct Answer: Let something happen without bothering about the consequences
Candidate Answer: Let the difficult situations in life come to an end regardless of the results
 
Question 138. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

Neither the chips, which were cheaper, nor the pizza interested the kid.
Options:
a) No error
b) Were cheaper
c) Nor the pizza
d) The chips which
Correct Answer: The chips which
Candidate Answer: Nor the pizza
 
Question 139. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:
a) Sattalite
b) Satellite
c) Satallite
d) Satalight
Correct Answer: Satellite
Candidate Answer: Satellite
 
Question 140. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:
a) Dosile
b) Docile
c) Dusile
d) Dosiel
Correct Answer: Docile
Candidate Answer: Dosile
 
Question 141. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

Art of designing or writing on wax
Options:
a) Cartography
b) Cerography
c) Psephology
d) Etymology
Correct Answer: Cerography
Candidate Answer: Cerography
 
Question 142. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

The act of showing disrespect towards sacred things
Options:
a) Congregation
b) Etymology
c) Panjandrum
d) Blasphemy
Correct Answer: Blasphemy
Candidate Answer: Blasphemy
 

 


